Operaciones con Enteros (C)

Emplee una estrategia de enteros para encontrar cada respuesta.

(-60) x (-75) = 98 x (-40) = 3880 + 97 =
(-73) - (-36) = 66 - (-79) = (-602) + 14 =
64 x 80 = 3740 + 85 = (-195) + (-65) =
(-98) + (-25) = (-77) x 96 = 97 x (-1) =
9+69= (-24) +79 = (-69) + 35 =

94 + (-18) = 1027 + (-13) = (-16) + 21 =
(-65) + 91 = (-76) x 51 = (-29) - (-13) =
(-15)-22 = 95 x 3 = 65 - (-6) =
(-32)- (-39) = (-72) x (-52) = (-12) + (-81) =
(-66) - 76 = (-34) - 69 = (-2714) = 46 =
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Operaciones con Enteros (C) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

(-60) x (-75) =
= 4500

(-73) - (-36) =
= (-37)

64 x 80 =
=5120

(-98) + (-25) =
= (-123)

9+69=
=78

94 + (-18) =
=76

(-65) + 91 =
=26

(-15) - 22 =
=(-37)

(-32) - (-39) =
=7

(-66) - 76 =
= (-142)

98 x (-40) =
=(-3920)

66 - (-79) =
= 145

3740 + 85 =
=44

(-77) x 96 =
= (-7392)

(-24) + 79 =
=55

1027 + (-13) =
=(-79)

(-76) x 51 =
= (-3876)

95 x 3 =
=285

(-72) x (-52) =
= 3744

(-34)- 69 =
= (-103)

3880 + 97 =
=40

(-602) + 14 =
= (-43)

(-195) + (-65) =
=3

97 x (-1) =
=(-97)

(-69) + 35 =
= (-34)

(-16) + 21 =
=5

(-29) - (-13) =
= (-16)

65 - (-6) =
=71

(-12) + (-81) =
= (-93)

(-2714) = 46 =
= (-59)
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